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Test Review
FRQ 1
Calculator NOT Permitted

Suppose that an angle, 0, in standard position is such that sin 8 = — z and that a separate angle, @ = — 4?" radians. Answer the

following questions.

a. Inwhat quadrant(s) could angle 6 terminate? Explain your reasoning.
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b. Ifangle 0 is also such that sec 0 <0, find the values of tan 0 and cot 6. Draw and label the reference triangle for 0.
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c. Inwhat quadrant does angle o terminate? Explain your reasoning.
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d. Find a positive co-terminal angle and the reference angle for angle a.. Leave your answers in radian measure.
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MULTIPLE CHOICE — Calculator Permitted

1. If b=8and the measure of angle B is 35°, what is the value of ¢?

A. 4.598 S @ q") = E
B. 6.553
C. 9.766 <
D. 11.425 [ , .
Pt C 7 gin(25)
c = 1% QH&
2. Which of the following angles is co-terminal with the angle 6 = — %".
B. =& c. = D. 2
4 4
-1
-q 5\ [T ELW\ q

3. Which of the following angles in degrees represents ©’, th¢
radians?

A. -30°
B. -45°
C. -60°

00
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35°

<9

E. 60°

4. Which of the following angles would terminate in Quadrant I?
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A. Tand II only B. Tonly C. Il only D. I and III only
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5.  Which of the following statements is/are true about the angle 6? 7‘26’? 2 @ ~ (&Dv
I o |o
. If 0 is such that 180° < 0 < 270°, then the reference angle would equal (180° - 0). { 80 TN
—>KXLO [
II. If cos 6 < 0, then the angle 0 can terminate in either Quadrant II or Quadrant III.
A[II. If sin 6 < 0 and tan 0 < 0, then the angle 6 will terminate in Quadrany}‘l'./' 14 4

.

k{[LO ¢\ opprsite

SignsS
A. Tonly C. I only D. Tand II only E. II and III only
= Eamy
6. Which of the following angles in radian measure is/are larger than 135°? /SSO l/—‘ Z - = '7SW'
V% (5 .
\/ 5m 157 2m
L - II. TS X II1. ey
83 q37ST Lo 0T T
A. Il only . Tand II only C. III only D. II and III only E. Tonly
= -\{ 20

7. Find two values of 0 that satisfy csc 6 = 1.22077 on the interval [0°, 360°).

B. 35° and 145° S\ = 9007

C. 125° and 235°
D. 235° and 305° ‘ \
E. 55° and 305° S = gQin | 220711

Q=53

S° 5S°
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FRQ 2
Calculator Permitted

Consider the two angles, 6 and a, to answer the questions that follow. The angle 6 = — an and o is such that sin o0 = — 2.

~

a. Express 8 in terms of degree measure. Draw 0 in standard degree position.
— (O L%g o
- O — = ﬂ(_pw

b. What is the measure of €’, the reference angle of 8, expressed in radian measure.

P ‘400 w’ e

c. The angle 8 is co-terminal with which angle on the unit circle? Using the correct coordinates, find the exact values
of tan 8 and csc 6. Show your work.
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SIS 3703
sce= Y72

d. If cos a <0, then which has a greater value'— csc 0 or tan a. Show and explain the analysis that leads to ypur

- Lt 2 25 &
T

answer. f
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FRQ 3
Calculator Permitted

Suppose an angle 0 is such that sec §=-2.325 and &is such that 0 < < 2.

a. Iftwo angles have the same cosine value, what must be true about the reference angles of the two angles? From
the unit circle, give an examples and explain your reasoning.

T Ao awdles have fhe Sawe (eStne V""{"‘e, the Qugly St

huve +he Sewe  veberewve aqnges avl wust formmale 1n m
Ruavs T od W or Quss I+ ol 1t

—~ 1T -sT - o - L1 -
<= 5 ol ﬁ 2 = 03 (F)z 7 adl cos(%"'),é& £l

b. In which quadrant(s) could fterminate? Explain your reasoning.
= < : ls left o Y-awS
Sec® =237 =22 O L O fermwks e \
4\ 4\

¢. Using a calculator, solve the equation for @and draw the angle your calculator gave you in standard position.

{
- = & = [ (97 A
Ce50= 2.32%
© = cos(Fhe) 41
SREAN R
§ = 2o 4\ « >
4\

@ = qF - 1.7 22014 v

d. Find the other possible angle for € that your calculator did not give you. Explain your method.

4)‘( o‘“@r V222N o‘F © ”eYMLmJ{j M @V’A’DUE 41
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MULTIPLE CHOICE — Calculator NOT Permitted AC R
1. Using the coordinates on the unit circle, find the exact value of sin g? = ’,(‘. | i
|
AS B. V3 D. 1 E. 2

<
2. Using the coordinates on the unit circle, find the exact value of sec (— 37")? -7’{

A. 1 B. -1 C.0 D. 2 E. undefined
-0 2
x-—
\{C\
-(’.'\
-1
7.

3.  Which of the following pairs of trigonometric ratios are equivalent.

\/ . m ., 3m ‘/ . 4m . 5m . 5m . 7m
I. sin=,sin— II. sin—,sin— III. sin=—,sin—
4 4 3 3 6 6

o3 g‘( QS Ks N

%

/ IT and III only NC

B. I'and III only

4. Inan oblique triangle, AABC, it is known that a =6, b =8, and c =9. Which of the following equations could be solved to

determine m4B?

A. 62 =92 +82—-2(9)(8)cosB
B. 82 =92 + 6% — 2(9)(6)?&;3
C. 92 =62 + 82 — 2(6)(8) cos B
D. 62 =82 + 92 — 2(8)(9) Sfu.B

(E. 87 =9 +6 - 2(9)(6) co@
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5.  Which of the following angles, 6, is/are such that cos@= — %

v v

L= I g=22
3 3

A. TandII only

B. I only b

C. II and III only t\'}

Name

xX¢O

D. III only A1)
E. L 1I, and III

6. Which of the following statement(s) is/are true about the six trigonometric ratios?

v

L. In quadrant IV, the sine and secant ratios are positive.

II. In quadrant III, the tangent and cotangent ratios are positive.

1. Sine and Cosine are the 0171%/ trigonometric ratios that are positive in quadrant 1. Tawp
)

A. TandII only

B. Tonly (—-\ 3 +)
C. I and III only

(,+)

E. LL1I, and IIT
R

\{70 xfl. N Sawe S‘SVIS

s )

Cot

/

7. Anangle @ is such that cscd >0 and tan@ > 0, in which quadrant must the terminal side of & lie?

B. Quadrant IT
C. Quadrant I1I
D. Quadrant IV

E. The terminal side of @lies on an axis, not in a Quadrant.

(+,+)
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